Quadratic Functions and Equations Review
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5. Solve using the quadratic formula
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5. Solve using the quadratic formula
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a) x*-x-6=0 b) 2x* -7x+3=0 c) 3x(4xz—9)=—10
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c) The roots of the equation are 1 and 3 and go through the point (2,-4)
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d) The vertex of the graph is at (6,1) and goes through the point (10,-31)
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A rock is thrown vertically downwards from a height of 11.5 m above the ground with a velocity of
6.5 m/s. The height in metres, of the rock above the ground, is given by the function

7.

h(t) = —4.9t* - 6.5t +11.5. Determine the time taken, in seconds, for the rock to hit the ground.
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